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Araf 

 
Divide the grid into some regions formed of adjacent squares. Each region should contain exactly two 
given numbers. The size of each region should be a value (in unit squares) between the two numbers 
inside that region. 
 
(Ignore the circles while solving) 
 
Answer key: For each circle from left to right, enter the size of region. Enter only the unit digit (i.e. the right digit) 
for each circle. 

 

 

 

 

5 7 1 3 2 10 6 1 16 9

4 8 2 5 2 6 1

3 4 5 6 5 4 4 5 2 2 3 8 2

2 4 5 4 8 6 7

1 2 9 5 3 5 6

1 1 5 9 15 1

2 14 3 2 24 2

5 3 5 4 8 2 20

4 8 9 5

5 6 7 9 10 5

5 5 3 11 5 8 5 31 7

1 5 7 9 3 20

7 7 6 4 8 3 4

7 9 4 2 2

7 6 5 2 5 4 6 5 7 18


